
φ µLψ = Λφ
Y[ νL Λψ

Y[

φ
m µL ψ

m
= Λ

2
m φ

m νLψm

X Z

=
Λ

2
m

(ν)
m

φ
m Z
L ψ

m

φ
m µL ψ

m
=

S`∫
du

Ωu∫
d
0
u (x)

xLu
x−
φ

m

x
ψ

m

` = 1: Λ
2
m =

(a/2)
2

m

(d/r)
m
(ra/2)

m

0|∞∫
dt

t
2m− 1 tL

Λ
2
m

(a/2)
m

φ
m Z
L ψ

m
= φ

m µL ψ
m

=

S1∫
du

Ωu∫
d
0
u (x)

xLu
x−
φ

m

x
ψ

m
=

0|∞∫
dt/t

tL

S1∫
du

tu−
φ

m

tu
ψ

m

=

0|∞∫
dt

t
2m− 1 tL

S1∫
du

u−
φ

m

u
ψ

m
= φ

m S1

L ψ
m

0|∞∫
dt

t
2m− 1 tL =

(a/2)
m

(d/r)
m
(ra/2)

m

φ
m Z
L ψ

m

0|∞∫
dt

t
2m− 1 tL


